OUTM / Example Problems:
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Example Problems:

Inovatit e entre
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@ 1t Angle Method

Problem
Solving:
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Ex. 1: Determine the y 1
resultant F in terms of

L J, K
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Ex. 2: Determine the
resultant F in terms of
L, K
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@ UNIVERSITI TEKNOLOGI MALAYSIA /

/ Ex. 3: Determine the
resultant F in terms of
i, ja k iy \"r
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@ UNIVERSITI TEKNOLOGI MALAYSIA

Ex. 4: Determine the
resultant F in terms of
L, K
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Ex. 6: Determine the
resultant F in terms of
L], K
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If more than 1 force?

Remember!
R=3F
=F,+F,
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If more than 1 force?




